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4: }

5:

6: class Finalé{

7: public static void main(String[] args){

8: [ 3 Jsc=[_4 [|Train();

9: sc.cars = 5;

10: sc. = true;

11: System.out.print(sc.rapid 6 |"HUER":"Z&E");
12: System.out.print(sc.cars+"MmiwRA");

13: }

14: }
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import java.io.*;
class Final7{
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(1) int i=0; while(i<®@){i++;System.out.print('*");}
(2) int i=2; while(i!=0){i--;System.out.print('*');}
(3) int i=0; while(true){i++;System.out.print('*"');if(i>2)break;}
(4) for(int i=1; i<4; i+=3) System.out.print('*');
(5) for(int i=0,j=0; i+j<5; i+=2,j++) System.out.print('*");
(6) for(int i=@; i<2; i++){

for(int j=i; j<3; j++) System.out.print('*');

System.out.print('-");

}
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int[] aryl={1,2,3};
int[][] ary2={{4,5},{6},{7,8,9}};
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(1) (k) & if(i==j)continue; (2) (@) & if(i==1)continue;
(3) k) & if(i<j)break; (4) (@) & if(i==1)break;
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1
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3 public static void main(String[] args) throws IOException{

4: BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));

6 int| 1 | daysofmonth={31,28,31,30,31,30,31,31,30,31,30,31};
7

8

int month;

: int days;
9: int tmp=0, i;

10: System.out.println(" B (1-365)ZANLTLIEE0\h");
11: days=Integer.parselnt(br.readLine());

12: -For‘(i=@;i<daysofmonth.;){

13: tmp+=daysofmonth[i];

14: i-F(tmp>=days)|I|;

15: }

16: System.out.println(days+"BHBIZ"+(i+1)+"BTI");
17: }

18: }
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1: for(int i=0;i<3;i++){
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for(int j=0;3j<3;j++){
Ok

* BE(1-365)Z AN LT ESU %
100 &)

100 BBIZ48TY

WETER 2

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

([ 2] RIIEZEH x DRHETHD. SFHZXRLUTNDI— REBRREDNS
1 DFDEU. LSTE

(1) 1 Uk

A1,

(2) -1 KDKREL DD 1K
(3) -1K® FEIE 1 KDOKREWN

(& 25t 10)

}

0ONOYUVT A~ WN

P
WERE

System.out.print(3j);

System.out.println();
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B. x%2==1
I(x!=-1 && x«<1)

A. 1(x<1) C. x>-1 && x<1

D. (x<@?x*-1:x)>1 E.
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1: class Train{
2:  dnt| 1 |
3: rapid;
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